
LO: I can use the 8 compass points  

 

 



Use the map and the compass points to answer the following questions. The 

first one has been done for you.  

 

1. Norfolk is north of Suffolk.  

2. Herefordshire is west of _____________.  

3. Warwickshire is north east of __________________.  

4. Leicestershire is south east of ______________________.  

5. West Yorkshire is __________ of South Yorkshire.   

6. North Yorkshire is __________ of County Durham.  

7. Berkshire is __________of Greater London.  

8. East Riding of Yorkshire is ______________ of Lincolnshire.  
 
9. ____________________ is north west of ____________________ . 
 
10. ________________________________________________ .  
 


